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CALCUL  
LA SOUSTRACTION POSEE 

 

Pour calculer 962 - 658 
 

     9    6  12 
-    6    5   8 
                4 
 
     9    5       
     9    6  12 
-    6    5   8 
           0   4 
 
     9    5       
     9    6  12 
-    6    5   8 
     3    0   4 
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MC 26a 
 

Effectue ces soustractions 
 

 

                   
 7 6 8 3     9 7 5 3       
- 4 5 2 8    - 6 5 2 7       
                   
                   
                   
 6 8 4 2     7 4 8 9       
-  5 6 1    - 4 2 7 3       
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MC 26b 
 

Pose et effectue ces soustractions 
 

8594 – 2578 = 
6871 – 3525= 
6329 – 584 = 
8140 – 5729 = 
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LA SOUSTRACTION POSEE 
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MC 26c 
 

Pose et effectue ces soustractions 
 

4000 – 1726 = 
9075 – 6359= 
6408 – 191 = 
8900 – 5642 = 
 
 


